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S.Y. B.Com.
241 : BUSINESS COMMUNICATION - 11
(2019 Pattern) (Semester - IV)

Time : 2% Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicates full marks.

Q1) A) Fillinthe Blanks (Any 5): [5x1=5]
a) ___ is adocument issued by an employer to its employees.
1)  Pamphlet
i) Press Release

i) Office order

b) Students need to join Google Classroom.
1)  Password

1) Teacher’s email address
1) Class Code

C) used to circulate any message to a huge number of audiences
simultaneously.

1)  Circular Letter
i) Complaint Letter
i) Sales Letter

d) is anything that’s delivered to your mail box or post office
box.

1)  Google Form
i)  Microsoft Word

m) Mail
PTO.



e) is written for the purpose of asking for something from
the recipient.

1)  Collection Letter
1) Sales Letter

i) Inquiry Letter

f) WWW stands for___
1)  World Wide Web
1)  Word Web Wide
i)  Web World Wide

B) Match the following: [5x1=5]
Group ‘A’ Group ‘B’
a) Import Export 1) Short document that is shared within an
organization
b) LinkedIn 1) Trash
¢) Inquiry Letter 1) To get detailed information about something
d) E-mail 1v) Social Media Network

e) Informalreport  v) Foreign Trade

02) Write Short Notes (Any 2) [10]
a) Formal Report
b) YouTube
¢) Credit and Status Enquiry Letter

d) Blog writing
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03) a) What is ‘Report’? Explain in detail significance and structure of the
Report. [8]

b) Explain in detail about ‘Facebook’ and ‘Google Classroom’. [7]

Q4) a) Write an enquiry letter to M/s Sneha Furniture, Mumbai regarding

requirement of office furniture. [8]
b) Whatis ‘Mail’? Explain in detail about format of ‘Mail’. [7]
R R R
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Total No. of Questions : 4] SEAT No. :

PB-4381 [Total No. of Pages : 5
[6224]-402
SY. B.Com.
242 : CORPORATE ACCOUNTING - Il
(2019 Pattern) (CBCS) (Semester - 1V)
Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:
1) Question No. 1 is compulsory.
2) Solveany 2 questions from Q. Nos. 2, 3 and 4.
3) Use of Basic Calculator is allowed.
4)  Figures to the right indicates full marks.
Q1) A) Fill in the blanks (Any five) : [5]
a) Accounting is the investigation of fraud or top
accounting scandals.
(Financial, Forensic, Corporate)
b) 1s a contingent liability.
(Bills Discounted, Bills Payable, Bank Loan)
c) The actual price payable by transferee company for taking over
the business of transferor company is called as
(Selling Price, Lumpsum Amount, Purchase Consideration)
d) One of the important source of raising funds in the event of a
company’s liquidation is of the company.
(Paid-up Capital, Uncalled Capital, Called-up Capital)
e) Property Tax is treated as
(Sundry Creditors, Preferential Creditors, Unsecured Creditors)
f)  Holding Company’s share in Capital Loss of subsidiary company
is added while calculating
(Minority Interest, Unrealised Profit, Goodwill)
g) In case of Voluntary Winding up liquidator submits an abstract

of the cash before the

(Court, Company, Government)

PT.O.



B) State whether the following statements are True or False
(any five) : [S]

a)

Bill of Exchange drawn by Holding Company on Subsidiary
company is an example of Inter Company Transactions.

b) Under absorption of companies, preliminary expenses is
transferred to the Equity Shareholders Account.

c¢) Liquidators statement of receipt and payment is also known as
Statement of Affairs.

d) In winding-up of a company, if there is a partly-paid shares a
shareholder has to contribute the amount up to the Face Value
of the shares held by him, if required.

e) In case of Absorption one company goes into liquidation and a
new company is formed.

f)  Forensic Accountant is sometimes referred to as Forensic Auditor.

g) Pre-acquisition profit is also called as Revenue Profit.

C) Match the following : [5]
1) | Investigation of fraud a) | Purchase Consideration
i1) | Unrealised Profit b) | Unsecured Creditors
ii1) | Bank Overdraft c) | Forensic Accounting
1v) | Repairs of Plant & Machinery | d) | Holding Company
v) | Absorption of Companies e) | Liquidation Expenses

D) Write Short Notes (any three) : [15]
a) Forensic Accounting
b) Cost of Control / Goodwill
¢) Voluntary winding up of a Company
d) Methods of Purchase Consideration
e) Preferential Payments in Liquidation
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02) A company went into liquidation on 31-3-2023. On that date the following
Balance Sheet was as follows. Prepare liquidator’s final statement of account
by taking into account his remuneration at 2.5% on the amount realized
and 2% on the amount paid to unsecured creditors. The assets realized by
liquidator are as follows : [20]
Plant & Machinery < 1,02,000
Freehold Property I 70,000
Out of Current assets Debtors and Stock realized ¥ 1,05,000 and 90,000/-
respectively.

Cash T 5,000.
Legal Charges T 500.
Liquidation expenses amounted to I 1,500/-
Balance Sheet
As on 31* March 2023

Liabilities Amount

Shares Capital (Equity shares of ¥ 10 each) 3,90,000
Creditors - Preferential 48,400
Partly secured creditors (on freehold property) 1,10,620
Unsecured Creditors 2,23,580
7,72,600

Assets Amount
Goodwill and Patents 1,00,000
Freehold Property 70,000
Plant and Machinery 1,57,000
Current Assets 2,43,240
Cash 5,000
Profit & Loss Account 1,97,360
7,72,600

03) Following is the Balance Sheets of Hemant Ltd. and Sham Ltd. as on

31 March, 2023. [20]
Balance Sheet
Liabilities Hemant Ltd. |Sham Ltd. | Assets Hemant Ltd.|Sham Ltd.
Amount| Amount Amount| Amount
Share Capital: Land and Buildings| 3,00,000( 1,06,000
Equity Share of I 100 6,00,000| 3,00,000 | Plant and Machinery | 1,50,000| 1,80,000
each fully paid up
General Reserve 40,000 10,000 | Investments in 2.,97,000 -
Profit and Loss A/c 70,000 5,000 [ (2700 Shares in
Sham Ltd. At cost)
Bills Payable 25,000 31,000 | Stock 40,000{ 50,000
Sundry Creditors 1,422,000 60,000 | Sundry Debtors 52,000 60,000
Banic Overdraft 25,000 -- | Bills Receivable 63,000 10,000
9,02,000| 4,06,000 9,02,000{ 4,06,000
[6224]-402 3




Additional information:

a)

b)

Hemant Ltd. Acquired the shares in Sham Ltd. on 1% April, 2022, on
which date the Profit and Loss Account showed a debit balance of Rs.
10,000 1n the books of Sham Ltd. And there was no balance in General
Reserve.

Sundry debtors of Sham Ltd included Rs. 4,000 due from Hemant
Ltd.

Bills Payable of Sham Ltd. Include R.s. 18,000 issued in favour of
Hemant Ltd. Which was discounted R.s. 3,000 of them.

Prepare a Consolidated Balance Sheet.

Q4) The Balance Sheet of Amol Ltd., Belapur as on 3I* March, 2023 was as
follows : [20]

Balance Sheet
As on 31 March 2023

Liabilities Amount | Assets Amount
Share Capital Plant & Machinery |1,60,000
3,750 Equity Share of 3,75,000 | Land & Building 2,00,000
Rs. 100 each
General Reserve 50,000 | Patents 80,000
Profit & Loss A/c 40,000 | Stock 36,000
Bills Payable 30,000 | Debtors 20,000
Sundry Creditors 45,000 | Cash 20,000

Preliminary Expenses| 24,000
5,40,000 5,40,000

Komal Ltd. agreed to acquire the assets excluding the cash balances,
which are revalued as follows:

1)  Plant & Machinery 1,50,000
i1) Stock 30,000
111) Patents 1,10,000

iv) Land & Building is to be appreciated by 10%

v)  Debtors at book value
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b) Komal Ltd. also took over creditors and Bills Payable at their book
value.

c¢) Amol Ltd. agreed to write off preliminary expenses from General
Reserve.

d) The Purchase consideration was to be discharged by allotment to Amol
Itd of 4000 equity shares of 100 each at a premium of I 110 per share
and balance in cash.

e) The cost of Liquidation amounted to I 5000.

You are required to prepare:

1)  Realisation A/c, Cash A/c, Equity Shareholder A/c, Komal Ltd. A/c,
General Reserve A/c in the books of Amol Ltd.

11)  Pass the opening journal entries in the books of the Komal Ltd.

F6d836
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[Total No. of Pages : 4
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SY. B.Com.

243 : BUSINESS ECONOMICS - Il (Macro)

(2019 Pattern) (CBCS) (Semester - 1V)

Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:

Q.No.1 and Q.No.6 are compulsory.

Solve any 3 questions from the remaning question No.2 to No.5.

Draw neat diagrams wherver necessary.

1)
2)
3)

o1 A)

Fill intheblanks. (Any 5) [5]

)

Vi)

Is the Secondary Function of Money.

[Store of value, Distribution of National Income, Liquidity Medium
of Exchange]

According to RBlI Money Measures isalso called as Broad
Money.

[Ml’ MZ’ I\/|3’ MA]
are most Gainers during the period of Inflation.
[Creditors, Salary earners, Investors, Consumers|

Is mainly related with an upswing and downswing of
economic activity over the specific timein economy.

[Inflation, Trade Cycle, Deflation, Investment]

When the government expenditure is exceeds than government
Revenue, it called as

[ Surplus Budget, Balance Budget, Deficit Budget, Capital Budget]
tax is an example of Progressive Tax in India

[VAT, GST, Income Tax, Custom duty]

PT.O.



B) Matchthefollowing Pairs.

Group - ‘A’
1)  Speculative demand for Money
i)  Public debt
i) Indirect Tax
Ilv) Cash Balance Approach
v) Phase of Trade Cycle

[S]

Group - 'B'
GST
Cambridge equation
Fiscal Measure
Rate of Interest
Recession
J.S. Clark

02) What is credit creation? Explain the process and limitation of credit creation
of Commercial Banks.

[15]

03) Definelnflation. Explainthevariouseffectsof inflationin detail. [15]

04) What istrade cycle? Explain the monetary measuresto control ontrade cycles.

[15]

05) What is Public expenditure? Explain the causes of the increase in public
expenditure.

06) Write short noteson (Any 3) :

a)
b)
C)
d)

€)

Importance of Public Debt
Secondary Functions of Money
Cost-Push Inflation
Characteristics of Trade Cycles
Types of Taxes

VVVV
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S.Y. B.Com.
243 : BUSINESS ECONOMICS - |l (Macro)
HATReR 3129 - 11 (Tw)
(2019 Pattern) (CBCS) (Semester - 1V)
(WSt TUTaR)
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q) AR A AT,

e - 3 -
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997 2)  UAfHd TUTS SR ? ST SRt atitd Tshian anfor aaier wE %,
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S.Y. B.Com.
244 . BUSINESS MANAGEMENT - 11
(2019 Pattern) (CBCS) (Semester - 1V)

Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:

1) Question no. 1 is compulsory.

2) Attempt any four questions from Q.No. 2 to 6.

3) Figures to the right indicate full marks.

Q1) A) Fill in the blank with the most appropriate alternative (any five):

[S]
1) is a function of management that helps to check errors
and take corrective actions.
(Control, Organise, Delegate, Direction)
) is a business model that helps a company be socially

accountable to itself, its stakeholders, and the public.

(Strategic responsibility, Business Planning, Corporate social
responsibility, Enterprise Manufacturing)

i1)) ____ leadership is a style in which the leader has complete
control and makes all decisions.

(Autocratic, Democratic, Laissez-faire, Coaching)

1v) is a process of inducing and stimulating an individual
to act in certain manner.

(Planning, Coordination, Motivation, Teamwork)

v) Disaster management is a process of effectively preparing for and
responding to

(relocation, disasters, change, threats)

vi) Management of Change is a systematic approach to dealing with

(boundaries, disasters, organizational change, systems)

PT.O.



B) Match the following : [5]

Column A Column B
1) Fear a) William Ouchi
i1) Rewards b) Pioneered by Mahatma
Gandhi

ii1) Trusteeship concept c) Operating system upgrade

iv) Z Theory d) Negative motivation

v) Technological change e) Positive motivation
02) Explain the meaning of the term motivation and its importance. [15]
03) What is Leadership? Explain the functions of a leader. [15]
04) What is Control? Explain its need. [15]

05) What is Corporate Social Responsibility? Explain the social responsibility
of a business. [15]

(06) Write a short note (any three) : [15]
a) Maslow’ s Need Hierarchy Theory.
b) Leadership styles.
¢) Characteristics of Coordination.
d) Management of Change.

d) Corporate Governance.

F6d836
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SY. B.Com.

244 : BUSINESS MANAGEMENT - I
(2019 Pattern) (CBCYS) (Semester - 1V)
(TSt TUTaR)

ae : 2> @ | [ Tegor 7707 : 70
I nstructionsto the candidates:

1) Question no. 1 is compulsory.

2) Attempt any four questions from Q.No. 2 to 6.

3) Figures to the right indicate full marks.

e 1) 1) ik 9InT waia g U= 9 (FRivdE ue) ¢ [5]

) ESSOU % TSI Ueh i 31T S JEt qUIHvaTa ST GeRTeHeh
et AT HEd L.

(Frezm, wuea, afafeh, faom)

17 IR 2 Ueh S UTSA 3 W ShUHIAT T &1, TATan HRTERER T
U1 AT ATHINTR N TTEeR AU Wed Thid.
(R feaifRafaferdt, fasma witim, wuRe wve feattifafoe,
) i)

1111 SRR A €1 U Vel SR SAmEd Sedrel qui s srea snfon
A Ta fAute g,
(3tiershieeh, SHIhe, THzI-TheR, ShiferT)

V) e & TETEn SARhICT TS Ugdi- Shidl ShivaTe Jed shudTet
anfor Safra seoaT=h ufshan o2,
(Faem, auw=, SRo, dash)

gferaTe JuaTel Uik e,
(TAUTTERUT, HATARA, 9, &eh)

Vi) SEEATe IRATTAE ... It SR FUATHTS! Teh UgaAvTR GEehIA
3Tz
(S, STURh, FeeATHE g, JUTe)
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¥ 3)

v 4)

%7 5)

%7 6)

) SIS e [3]

e A T
i) i H) foeam an=h
i) afem q)  HEHT M YEThR St
iii) T Heheaa ®) R fen sl
iv) e faerd g) THhNIRHE TRUT
V) difteR ST Z) HHNIHE UUT
TRUT T YTeaT= 312} AU el Al 9% . [15]
AT TEUTS I ? ST R TS AL [15]
=T rgue S e Tl TR TSt |, [15]
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[15]
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383638
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SY.B.Com.
245 ELEMENTSOF COMPANY LAW-I|
(2019 Pattern) (Semester - V)

Time: 2%2Hours) [Max. Marks: 70
Instructions to the candidates:

1) Question No.1 and question No.6 are compulsory.

2) Solve any three questions from the remaining question No. 2, 3, 4, & 5.

Q1) A) Fillintheblanks. (any 5) [9]

1)  Minimum Number of Directorsin case of public company.(2,3,7)

i)  The First Directors's of a public company are appointed by the
. (Shareholders, Promoters, Government)

Iii) IS the proper authority to call annual general meeting. (Pro-
moters, Board of Directors, Secretary)

V) is the full form of CSR.(Corporate Social Responsibility,
Co-operation sell Resources, Commerce Society of Representa-
tive)

v)  The Company must give a clear doy’s notice to its member

for calling the general meeting. (14,21,30)

vi) Inorder to pass a special Resolution, more than Percentage
of Votes are required. (50,60,75)

PT.O.



B)

Match the Following:
Group - ‘A
1)  First Directors of the company. a)

[5]
Group - ‘B’

Government to Government

i) CSR b) Submission of E - form
i)  E-Filing c) Minutes
IV)  Written Report of themeeting. d) 2% of Net Profit
v) G-ToG e) Persons Signing the Memo-
randum of Association.
Q2) Define‘Director’. Explain the types of Directors. [15]

Q3) Define company Secretery? Explain therole & duties of company secreatery.

[15]

Q4) Definemeeting. Explain formalities of conducting valid meeting. [15]

Q5) What do you mean by winding up of acompany? Explain Methods of winding

up.

Q6) Write Short Notes (Any three)

a)
b)
c)
d)
©)

Powers of Director.

Corporate Social Responsibility
Power of chairman of the meeting
Importance of E - Governance
Legal position of Directors.

[6224]-405 2
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SY.B.Com.
245 ELEMENTSOF COMPANY LAW-II
(2019 Pattern) (Semester - V)
(WISt FUTR)
S : 2% aHE| [ wsgut U1 : 70
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) TR U STEdia Tl R A ... e
(2,3,7)
i) et U ulgedn TRt R ... HFA helt A
(WRTURER, Tadeh, TRhR)
11) IO 1 SR TEETRUT ST SAGuITe SRR STEe.
(TeTdeh, TEITeTeh Uges, Ared)
ivV) CSRagui®d........... T AR
(Corporate Social Responsibility, Co-operation Sell Resources,
Commerce Society of Representative)
V) SR A GO o feam e Ul strervaen e
(14, 21, 30)
vi) e atra dua gt . THFITILTT AR HATTRITE TR S
(50, 60, 75)



q) AN S e [5]
-3 -
) <o ufeel Heerh ) VA A IR
i) U ST STaTeer q) T-FH Ge WOl

i) 3-wmafem %) g

V)  wen o ga g) e Twm= 2%

V) Sh-g-sit 3) USR] HE HIUT Sfeh
Y. 2) SarerehTet SREAT gl huHt TaTeTehiel TehR AR T . [15]
Y. 3) shurt faeuiiare Sarean a1, suHt faeuiiar et ST shaed TE . [15]
T.4) ae=h SIwen g1, GHE A SIS ShiEdii ol afersr forgt. [15]
¥.5) shu-rel THIUT U i ? TETOETe fafay ugdt v . [15]
Y.6) fem fergr (horegl ) [15]

HA) TR AR

q) UHSe "I IEIe
®) THTAT AT AUERR
T) IR R

3) HOToThTe ISR T
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SY.B.Com.
246(A) : BUSINESS ADMINISTRATION -1
(2019 Pattern) (Semester - V)

Time: 2%2Hours) [Max. Marks: 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicates full marks.

Q1) A) Fill intheblank withthe most appropriate dternative. (any Five) [9]

1) A breach of contract can be of breach. (Discharge,
Illegal, Void, None of these)

i) A debt whichisenforceable by law is called

(valid contract, Irrevocable Agreement, Illegal contract,
Unenforceable Contracts)

Iii) environment is within the control of the business.
(Internal, External, Micro, Macro)

Iv) The process of control is done by

(Before production, During production, After production control,
All of the above)

v)  Whenever the address of the registered office of the company
changes or the office is shifted, the same has to be reported to the

Registrar within days from the date of shifting.
(15, 30, 60, 45)

Vi) are unrelated to managerial motivation for acquisitions
and mergers.

(Rights, Employment Security, Achievement, Dividends)

PT.O.



B) MatchthePairs: [9]

Group ‘A’ Group ‘B’
)  Factory act a Process
i)  Document b) 1969
i)  NPC c) National Productivity
Council
Iv) Control d) Memorandum of Association
v)  Monopolistic and Restrictive e 1948
Trade Practice Act
Q2) Write ashort notes (any two) [10]

ad Registration process of Business
b) Theimportance of productivity

c) Components of Business Strategy
d) Industrial Engineering

Q3) @ Explainindetail the process of businessregistration. [8]
b) What isproductivity? Explain theimportance of productivity. [7]
Q4) @ Explainthevariousstepsin Developing Business Strategies. [8]
b) Explaintypesand Benefits of Outsourcing. [7]
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S.Y.B.Com.
246(A) : BUSINESS ADMINISTRATION - 11
(2019 Pattern) (Semester - 1V)

(WSt TUTR)
A% : 2 A [ @Rt Ut : 50

guAat:- 1) w9 9y SifHa eTea.
2 3IEse fietel deEn gul Ut gyieaT.

.1)a1) fewmn Som @, (ShAvTerd uren) [5]

(AR, AR, fFreds, It ard)
i) 3 el TSI ¢ SIFETIHR thed STd &Te ... 3T WU,
(S TR, WM TR, AHRIIR TR, IFHATATAUR T AT AU FIR)

(STATEATYE, eSS, It FE=um-®R, adieudt ad)
V) THE@H HUH Uit ShIATEETdl Ul Seetdl Shal ol ST TR

Bl TERE TAFTR AT T ............ feaar=a s =i AfE
RTFERe = @,
(15, 30, 60, 45)

Vi) Gurea anfur fereiFeruTendt STeuT=a sHataehi SRUTHe . ............ = e
I .

(atferemR, A geferdan, | 01, ST



F) o S Jo. [5]

g A qad
) HREE wEE HA) ufshan
i) aEE @) 1969
i) NPC ®) WY IATEhAal URwg
iv) feEm ) HeASh

V) Uchell 9 fdurced suR sHagR wmer ) 1948

¥.2) eneerma feur forgt. (shoredt 29) [10]
HA) TAEE AEUT HUITN GishA
q)  SAGHT AE

F) HIEE I °Th
) EIE IR

¥.3) 31) TawmET= Aigult AT Uitk wfoa T . [8]
F)  IATGHAT FEUTS I ? SeUTGRIS HEw TIE R [7]
T.4)31) T gt foehmarean U= T &, [8]
F) TSRO TYEHR § FEE WE . [7]
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S.Y. B.Com.
246B : BANKING & FINANCE - 11
Indian Banking System - 11
(2019 Pattern) (Semester - IV)

Time : 2% Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) A) Fillinthe blanks with the appropriate alternative (any five) [5]
1)  The Co-operative Act came into existence on .
a) 1906 b) 1904
c) 1921 d) 1918
i)  ofthe following is not on Industrial development Bank.
a) SIDBI b) IFCI
c) 1BI d) EXIM Bank
i) Digital banking includes =~ automated processes and
web-based services.
a) Inferiorlevel b) Mixedlevel
c) High level d) AandB
iv) Based III ecommendations were fully implemented in India
on
a) 31*March2019 b) 31*March 2020
c) 31*March 2022 d) 31*March 2021
v) Banking Business in India started with business.
a)  Unit Banking b) Branch Banking
c) Wholesale Banking d) Digital Banking
Vi) launched the process of reforms of financial system in
India.
a) Nariman Committee b) Gadgil Committtee

c) Narasimhan Committe d) Khanna Committe

PTO.



B)

Match the Following: [5]
Column A Column B
i)  Long-term Co-operative a) December2017

Credit societies

1)  Social Bank b) Decentralised structure
i) Development Bank c) Two-tiered
iv) Basel-1V d) Micro finance via SHG-Bank
linkage programme
v)  Co-operative Bank e) Guaranteeing the loan
02) Write a Short Note (any two) [10]
a) Retail Banking
b) Objectives of development Banks.
c) Baselll
d) State Co-operative Banks.
03) a) Elaborate the role of Co-operative banks in economic develoment. [8]
b) Explain in detail the functions of a development bank. [7]
04) a) Whatis commercial Bank? Explain functions of commercial banks. [8]
b) Explain in detail the ecommendations of Narasimhan committee (II). [7]
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(2019 Pattern) (Semester - I1V)

Time : 2% Hours]| [Max. Marks : 50
Instructions to the candidates:

D

All question are compulsory.

2) Figures to the right indicate full marks.

1) A)

Fill in the blanks with the most appropriate alternative (Any five) [S]

i)

Can a cooperative society distribute its profits to members as
dividends?

a) Yes, without any restrictions

b) Yes, after setting aside reserves

c) No, itis not allowed

d) Only if approved by the State Government

Can a cooperative society invest its funds in securities?

a) Yes, without any restrictions

b) Yes, with approval from the Registrar

c) No, it is not allowed

d) Only in government securities

What is the procedure for obtaining a life insurance policy?
a) Submitting medical reports

b) Paying the premium

c) Signing the policy document

d) All of the above

What is the purpose of nominating a person in a life insurance policy?
a) To transfer ownership of the policy

b) To receive policy benefits

c) Toavoid tax liability

d) To cancel the policy

PTO.



v)  What is the scope of the Competition Act 2002?
a) Limited to specific industries
b) Covers all economic activities
c) Applicable only to government entities
d) Covers only international trade
vi) What is the purpose of standing orders under the Industrial
Disputes Act?
a) Define terms of employment
b) Promote strikes
c) Regulate wages
d) None of the above

B) Match the following. [5]
Column A Column B

1) Consumer Cooperative Society a) Combines life insurance coverage
with savings

11) Producer Cooperative Society b) Providing goods and services to its
members

111) Endowment Insurance Policy ¢) Agreement to obtain shares, voting
rights or control of assets

1v) Acquisition d) Temporary cessation of work by
employees
v) Strike e) Production, marketing, and of their
products
02) Write a Short notes (Any two) (150 words each) [10]

a) Housing Cooperative Society

b) Child Insurance Plans

c) Function of Competition of India

d) Lay-offs as per Industrial Disputes Act

03) Asnwer the following questions.
a) What are the steps involved in the registration of a cooperative society?

8]

b) What are the basic principles of life insurance? [7]
04) Answer the following questions.
a) How does the Competition Act, 2002 promote consumer welfare and

protection? [8]
b) What are the objectives of the Industial Disputes Act? [7]
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246 (D) : CO-OPERATION AND RURAL DEVELOPMENT -11

(2019 Pattern) (Semester - I1V)

Time : 2% Hours]| [Max. Marks : 50
Instructions to the candidates:

1) All question are compulsary.

2) Figures to the right indicate full marks.

Q1) A) Fillinthe blanks (Any 5) [5]

)

Vi)

The Co-operative Societies Act allows cooperatives to provide
services.

a) Credit
b) Non Credit
c) Legal

MSCS Act gives framework for cooperative societies to function
as institution.

a) Democratic

b) Autocratic

c) Regional

Maharashtra State Cooperative Society Act, 1960 amendedin

year.

a) 2007

b) 2010

c) 2013

Amul is an example of Cooperative.
a) Segar

b) Dairy

c) Urban

Co-operative societies Act, 1912 was result of

a) Indian Famine Commission

b) The Kothari Commission

c) King Arthur Commission

Urban Co-operative Banks are divided in , on the basis of
deposits.

a) 6 Tier

b) 5 Tier

c) 4Tier

PTO.



B)

Match the pairs. [5]
Group ‘A’ Group ‘B’

i)  Co-operative Legislation a)  Registrar

i)  Registration of Society b)  Pravaranagar

i) Section 38 c)  Chartered Accountant

iv) Asia’s First Cooperative d) 1904

Sugar Factory
v)  Audit of Society e)  Register of Mambers
02) Write Short notes (Any two) [10]
a) Benefits of Co-operative Legislations
b) Registration for State Cooperative Society
c) Privilege of Co-operative Societies
d) Types of Co-operative entities in India
03) a) What are the features of Cooperatives Society’s Act, 1904 [8]
b) Which documents are required for registration of Co-operative society?
[7]
OR
04) a) What are Amendments made in Maharashtra Co-operative Society’s Act
in2013. 8]
b) Discuss the present situation of Agricultural Credit C -operatives.  [7]
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246-E : COSTAND WORKSACCOUNTING-1I
(2019 Pattern) (Semester - IV)

Time : 2% Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicates full marks.

3) Use of calculator is allowed.

Q1) A) Fillin the Blanks by choosing the proper alternative given in the bracket
(Any 5): [5]

a) is a quantitative record of each material maintained by the
storekeeper. (Store Ledger, Bin-Card, Bill of Materials)

b)  The higher rate of labour turnover results in increased costof _____
(Turnover, Production, Performance)

c) Efficient time booking helps to minimize
(Idle Time, Idle Time Rate, Efficiency)

d) Under the incentive is not strong enough to induce efficient
workers to work hard.

(Halsey Plan, Rowan Premium Plan, Piece)

e) 1s usually referred to as a category of business management
software.

(CAM, JIT, ERP)

f) Job Involves observation and study of each job with a view
to ascertain technical skills and qualifications required for the job.

(Evaluation, Analysis, Description)

PTO.



B) Match the following Pairs: [5]
Group ‘A’ Group ‘B’
a) Bin Card 1) Last In First Out
b) Merit Rating i) Attendence Time - Job Time
c¢) LIFO i) Storekeeper
d) Labour Turnover 1v) Rate of change in the Labour force
e) JIT v) Systematic Evaluation method
vi) Just In Time
02) Write short notes on any two of the following. [10]

a) Group Bonus Schemes
b) Scope of ERP System
c) Weighted Average Price Method

d) Labour Turnover

03) a) The following are the receipt and issue of materials during the month of

March 2023.

Date Particular

1 March Opening Stock
5 March Purchases

8 March Issue

12 March Purchases

18 March Issue

22 March Purchases

29 March Issue

30 March Spoilage

[8]
Quantity  Rate per Unit (Rs)

100 1.75

150 1.50
200
300 1.60
250
400 1.70
400

10

You are required to prepare the Store Ledger Account under LIFO

method.
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b)

04) a)

b)

From the following particular calculate labour Turnover Rate under

Separation method, Replacement Method and Flux method. [7]
Number of workers on 1* March 2023 1500
Number of workers on 31* March 2023 2000
Number of workers resigned 200
Number of workers discharged 80

Number of workers replaced due to resignations and discharges 210

An employee takes 18 hours to complete a job on daily wages and
12 hours on a scheme of payment by results. His day rate is
Rs. 15 per hour. The Material Cost of the product is Rs. 400 and the
factory on costs are recovered as 20% of the Productive Wages.

Calculate the factory cost of the product under: [8]
1)  Halsey premium plan, 50% to employee
i)  Rowan premium plan

What is CAM system? State the benefits and limitations of CAM system.
[7]
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(2019 Pattern) (Semester - IV)
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Instructions to the candidates:
1) Q.No 1 and Q.No 6 are compulsory.
2) Solve any three question from remaining Q.No 2, 3, 4 and 5.
3) Figures to the right indicates full marks.
4)  Use of calculator and statistical table is allowed.
5) Symbols have their usual meanings.

Q1) A) Choose the correct alternative in each of the following (any five).

a)

b)

d)

[5x1=5]
Secular trend in time series is of nature
1)  Increasing i)  Decreasing
) Stagnant iv) All the above

In time series analysis the method of moving averages, is used to
estimate

1) Trend 1)  Seasonal variations
i) Cyclical variations iv) Irregular variations

In a L.P.P. functions to be maximized or minimized are called

1)  Constraints 1)  Objective function
i) basic solution iv) Feasible solution
The assignment problem is always a matrix.
i)  Square i) Rectangle

i) Triangle iv) Circle

When the total no.of demand is equal to total no.of supply then the
transportation problem is said to be

1)  Balanced 1) Unbalanced
i)  Minimization iv) Maximization

PTO.



B)

The solution to a transportation problem with m - sources and
n - destinations is feasible if the no.of allocations are

1) mtn i) m-n

i) mn iv) m+n-1

State whether following statements are true or false ( any five). [Sx1=5]
a) Seasonal variations have period less than one year.
b) The observations in time series are independent of each other.

c) The graphical method of solving L.P.P. can be used when the
objective function contains only two variables.

d) A L.P.P. may have more than one solution giving the same optimum
value of the problem.

e) A feasible solution is said to be optimal if it minimizes the total
transportation cost.

f)  Assignment problem is a special type of transportation problem.

02) Attempt each of the following: [3x5=15]

a)

Define ‘time series’ and give illustrations of time series from various
fields. State four components of time series.

b) Fitatrend line of the following time series by the least square method.
Year (t) 2018 (2019 | 2020 | 2021 | 2022
Production (Y)| 12 | 20 28 | 32 |50
(in lakh tons)
Obtain the trend value of production for 2024.
c) Estimate the trend using 10% smoothing constant for the following time
series.
Year(t) 1 213 4 | 516 |7 [8]9 10|11 |12
National

income (in | 260 [270|275 (300 [310|315 (300290310 | 320 | 335 | 380
crores yt)
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03) Attempt each of the following: [3%x5=15]

a) Define L.P.P., Unbounded solution, basic feasible solution, alternate
solution.

b)  Write the standard form of the following L.P.P.
Minimize z = x, + 3x, = 2x,

Subject to the constraints

3x,—x, +3x, <7
—2x, +4x, <12
—4x, +3x, +8x, 220

X5 Xy,%; 20

c)  Write the dual of the following L.P.P.
Minimize z = 4x +7x,+3x,

Subject to the constraints

13x, +4x, + x, 210
—4x, —3x, +2x, <=5
X, —2x,=3x;<-1
3x,+2x,+2x,25

X, Xy,%; 20

04) Attempt each of the following: [3x5=15]

a) Define transportation problem, balanced and unbalanced transportation
problem.

b) Obtain an initial basic feasible solution of the following transportation
problem using matrix minima method.

Destination — | D, D, D, D,|Supply

Origin,
01 5 3 6 2| 18
02 4 7 9 1| 37
03 3 4 7 5| 35

Demand 15 16 34 25

Also find the corresponding transportation cost.
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c) Obtain an initial basic feasible solution of the following transportation
problem using north west corner method.

Destination —» | W~ W, W_ | Supply
Origin |,
01 5 6 9 30
02 12 10 11 | 35
Demand 20 20 20

Also find the corresponding transportation cost.

05) Attempt each of the following: [3%5=15]

a) Describe mathematical model for assignment problem, explain the concept
of minimization and maximization.

b)  Solve the minimal assignment problem who effectiveness matrix is

1 2 3 4
I 2 3 4 5
I 4 5 6 7
I 7 8 9 8
vV 3 5 8 4

c) A Company has four jobs to be done. The following matrix shows the
time (in days) taken on four different machines. Find minimum solution
so as to minimize the total time required.

Ml M2 M3 M4
A 1 4 6 3
Bl 9 7 10 9
C| 4 5 11 7
D| 8 7 8 5

[6224]-411 4



06) Write short notes on the following: (any three) [3x5=15]
a) Distinguish between seasonal and cyclical variations in time series.
b) Exponential smoothing.
c) Canonical and standard form of L.P.P.
d) Optimal solution using MODI method.

e) Hungarian method to solve assignment problem.

I O O3V
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246 -G : BUSINESS ENTREPRENEURSHIP -11
(2019 Pattern) (Semester - IV) (Special Paper - I)
Time : 2% Hours]| [Max. Marks : 50

Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) A) Fillinthe blanks (Any 5) [5]

i)

Vi)

is the investment and risk of time, money and effort to start a
business and make it successful.

a) Entrepreneurship
b) Customer
c) Seller

Self Help Groups often engage in activities like savings, credit and

a) Profit maximization

b) Individual entrepreneurship

c¢) Community welfare and development
Service industry does not include

a) Education

b) Marketing

c) Automobile

The  industry provides services and intangible products.
a) Service

b) Manufacturing

c) Agriculture

Dabbawallahs run its business in ___ region.
a) Nashik
b) Pune
c) Mumbai
is not the challenge of entrepreneurship.
a) Certainty

b) Economical
c) Political

PTO.



B)

Match the following. [5]

Group ‘A’ Group ‘B’

1)  Self-help group a) Temporarily shut down
businesses

i)  Manufacturing Industry b) naukri.com

i) Mr. Ritesh Agarwal c) OYO Hotels

iv) Mr. Sanjeev Bikhchandani d) Tangible in Nature

v)  Corona Virus e) Itovercome individual
shortcomings with collective
efforts

02) Write Short notes (Any 2) [10]
a) Nature and Scope of Self -Help Group
b) Service industry management
c) Mr. Ratan Tata
d) Effect of corona virus on entrepreneurship
03) a) Whatis ‘Group Entrepreneurship’? Explain advantages and disadvantages
of Group Entrepreneurship. [8]
b) Explain in detail various opportunities to Service Industry in Rural and
Urban Areas. [7]
04) a) State in detail contribution of Mr. Radhakishan Damani in the business.
[8]
b) What is ‘Entrepreneurship Development? Explain various challenges of

Entrepreneurship Development. [7]
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246(H) : MARKETING MANAGEMENT -11
(2019 Pattern) (Semester - I1V)
Time : 2% Hours]| [Max. Marks : 50

Instructions to the candidates:

1) All question are compulsary.
2) Figures to the right indicate full marks.

Q1) A) Fillinthe blanks with the most appropriate alternative (Any five) [S]

a)

b)

d)

Green Marketing is

1)  Seek to promote action

i)  Change styles

i) Thoughts for the benefits of the Environment
iv) Customer Satisfaction

1s the use of the internet, Mobile device, social media, search
engine and other channels to reach customers.

1)  Social Media Marketing i) International Marketing
i) Green Marketing iv) marketing

1s to attract visitors to your website when they search for
products or services related to your business.

i)  Search Engine Optimization

i)  Web Design

i)  Affiliated marketing

1v) Email Marketing

The Limitations of E - Marketingis
1)  The inability to touch and feel

i) Instant cash payment

i) Touch and fees

1v) Immediate delivery

PTO.



e) Extension of marketing activities across the globle is called as
1)  Universal Marketing 1) International Marketing
i) International Business  1v) Universal business

f)  The term green marketing in international marketing is related
to

1)  marketing of natural marketing

i)  Environmental Concern and Protection
i) Green house Effects

1v) Green colour of marketing decision

B) Match the following. [5]
Group A Group B
i)  E-Marketing a) Pepsi
i)  Social Media Marketing b) OLX
i) Green Marketing c) Video
iv) Content Marketing d) Facebook Marketplace
v) International Marketing e) Environmental Marketing
02) Write a Short Notes (Any two) [10]
a) Role of Marketing Manager in Green Marketing
b)  Online Marketing
c) Email Marketing
d) Limitation of International Marketing
03) a) Whatis Green Marketing? Explain The Objective of Green Marketing.[8]
b) Explain the Various Challenges before E - Marketing [7]
04) a) Explain the various Digital Marketing Channels. [8]
b) What is International Marketing? What are the benefits of International
Marketing? [7]
VOOV
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S.Y.B.Com.

246(1) : AGRICULTURALAND INDUSTRIALECONOMICS -11

(2019 Pattern) (Semester - I1V)

Time : 2% Hours]| [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) A) Fill in the blanks. (Attempt any 5 out of 6) [5]

)

Vi)

Optimizing the use of farm resources on an individual farm level. It
isa:

a) Farm management b) Production economics

c) Agricultural marketing d) Macro economics

New seed policy was launched in

a) 1982 b) 1992

c) 1988 d) 1986

Per hectare calculated cost is known as:

a) Cost of cultivation b) Cost of production
c) Cost of farming d) Total cost

FDI stands for

a) Future Direct Investment

b) Foreign Direct Investment

c) Further Direct Investment

d) Fund for Direct Investment

The elimination of which of the following will improve industrial
productivity?

a) Excesstime

b) Ineffective time

c) Excesstime and Ineffective time
d) None of the these

A 'Debenture' is

a) Alongterm loan

b) A short term loan

c) aninternal sources of finance

d) None of these

PTO.



B)

Match the following. [5]
A B
1)  Optimizing the use of a) Foreign Capital
farm resources
i)  Farmer Collectives b) Farmer Producer Organisation
) Agricultural Insurance c¢) Risk Management

iv) Foreign Direct Investment d) Farm Management

v) IDBI e) Sources of Industrial Finance

02) Write a short notes on. (any 2 out of 4) [10]

a) Objectives of Farm Management.

b) Types of Risk and Uncertainity

c) Need for Foreign Capital

d) Measures Required for Improving Industrial Productivity.
03) a) Explain importance of Farmer Producer Organisation in Agriculture. [8]

b) Enumerate the types of Risk and Uncertainity in Agriculture. [7]
04) a) Explain the Factors Affecting Productivity. [8]

b) State the Sources of Industrial Finance. [7]

VO
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246(1) : AGRICULTURALAND INDUSTRIALECONOMICS -11
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31) Future Direct Investment

) Foreign Direct Investment
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Total No. of Questions : 4] SEAT No. :

PB1332 [Total No. of Pages : 2
[6224]-415

S.Y.B.Com.
246(J) - DEFENCE BUDGETING, FINANCE & MANAGEMENT - 11
(2019 Pattern) (Semester - I1V)

Time : 2% Hours]| [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any five of the following. [5%2=10]
a) State the concept of war potential.
b) State the concept of war finance.
c) Define third world countries.
d) State the role of the department of Defence production.
e) Define war time economy.
f)  Whatis Internal Security?

02) Attempt any four of the following. [4%5=20]
a) Industrial power
b) War time Economy
c) Armsrace
d) Rationing
e) Inflation

03) Attempt any four of the following. [4%5=20]
a) Explain the cost of war.
b) Explain the role of the Ministry of Defence.
c) Explain elements of war potential.
d) Explain third world countries' meaning and concept.
e) Explain the importance of DRDO in war.

04) Attempt any two of the following. [2x10=20]
a) Explain in detail arms production in the super power countries.
b) Explain in detail silent features of the Indian economy.
c) Explain in detail determinants of defence expenditure.

VOOVW
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S.Y.B.Com.

246 (K) : INSURANCE , TRANSPORT AND TOURISM - 11

(2019 Pattern) (Semester - I1V)

Time : 2% Hours]| [Max. Marks : 50
Instructions to the candidates:

D

All questions are compulsory.

2) Figures to the right indicate full marks.

1) A)

B)

Fill in the blanks with the most appropriate alternative (any five) [S]

1)  Eco tourism relates to
(Economic system, Nature, E-commerce)
i) Manas National Park is located in state of
(Rajasthan, West Bengal, Assam)
111) 1s a part of tourism destination planning.
(Human Resource Planning, Ecotourism, Public relations)
iv) WTTC means .
(World Travel and Travel Council, World Travel and Trade Council,
World Travel and Tourism Council)
v) Following are the types of travel agency except
(Partnership, Corporate, Joint venture)
vi) The Indian Tourism Development Corporation was established in
(1966, 1947,1951)
Match the Pairs. [5]
Group A Group B
i)  World Travel and a) 2016
Tourism Council
i)  Atravel agency b) 1990
) Agro tourism c) Manufacturer of tourist product
iv) Technology d) Rural tourism
v)  Startup India e) Latestknowledge

PTO.



02) Write a short notes (Any two) [10]

a)
b)
c)

d)

03) a)

b)

04) a)

b)

Nature of Tourism
Agri tourism
Career Opportunities in Tourism

Sea Tourism

What do you mean by tourism? Explain the Significance of Tourism. [8]

What is Religious Tourism? Explain the purpose of Religious Tourism.[7]

Explain the Growth of Tourism in India. [8]
What are the economic impacts of tourism in India? [7]
VOV
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(2019 Pattern) (Semester - IV)
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S.Y.B.Com.
246 L : RELATIONAL DATABASE MANAGEMENT SYSTEM

Computer Programming And Application - I1
(2019 Pattern) (CBCS) (Semester - 1V)

Time : 2V2 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q.1andQ. 6 are compulsory.

2) Solve any three questions from the remaining questions No. Q. 2, 3, 4 and 5.

3) Figures to the right indicates full marks.

Q1) A) Fillin the blanks. [S]
a) The___ of following is not a valid SQL Data type.
1) FLOAT
ii) NUMERIC
i) DECIMAL

iv) CHARACTER

b) A collection of interrelated records is calleda __
1)  Database
i)  Spreadsheet
i) Management information system

1v) Textfile

c¢) The Primary key mustbe ____ .
1)  Unique
1) NotNull
i) Duplicates

1iv) Both Aand B
PT.O.



d) Datatype is an integer that can be 0, 1 or null.
) Bit

1) Boolean

i) Integer
iv) Char
e) In SQL, command inserts new data into a database

1)  Insert Into

1) Add Into
i) Modify
1v) Select
B) Answer of the following queries [S]

Customer table having following structure. (Cust_ id, Name, Date,
BAmount)

a) Display all records of customers in descending order of name
b) Find all customers whose bill amount is less than Rs. 500

c) Delete the racord of customer having Cust_id = 09

d) Change the date of Customer id = 09 to 15-March-2023

e) Delete record of customer whose bill amount is 0.

02) Answer the following questions [15]
a) Whatis DBMS?
b) Whatis foreign key?
c) Explain features of Sturctured Query Language (SQL)?

03) Answer the following questions [15]
a) What are the Disadvantages of RDBMS?
b)  Write on check constraint?
c¢) Whatis unique and NOT NULL constraint?

[6224]-417 2



04) Answer the following questions.

a) Explain DDL commands of SQL.

b) Explain select command with all options?

c) What is SET operator in SQL?

05) Answer the following questions.

a) Explain aggregate functions with examples

b) What are scalar sub queries

c) Explain user privileges in detail
06)Answer the following (Any Three)

a)  What is rollup operator in SQL

b) What is use of ADO?

c) Whatis DSN

d) Explain IN and NOT IN operator

[6224]-417 3
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[Total No. of Pages: 2
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SY. B.Com. (Vocational)

VOC-245 - A : COMPUTER APPLICATIONS - |
(2019 Pattern) (CBCS) (Semester - 1V)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.

1)
2)

Ql) A)

Fill in the Blanks: [9]

)

V)

Full form of ESS is
a) Essentia Student System

b) Executive Support System

c) Executive Sub System

d) Examination Student Support

Is the component of Information system.

a Source b) Data

c) Product d) Strategy
The decision support system is used only for
Processed data is called as

a Info b) Information

c) Knowledge d) Inteligence

A will help organization to go a step ahead of
its competitors.

a) behaviour b) discipline

c) DSS d) information

PT.O.



B) Sate the following are True or False. [9]

1)  Enterprisecan usean MISto help decide whether to introduce anew
product line.

i) ElSdataisavailable onlocal area networks (LANS) throughout the
enterprise.

lii) User Interface is not a component of Decision Support System.

Iv) Systems that support end-to-end processes are called business
ProCesses.

V) ESS serves the decision level of the organization.

Q2) Answer the following (Any four): [20]

a)

Explain briefly ERP? What are the advantages of ERP?

b) Explain briefly Information and Data
Cc) What are the features of Executive Support System?
d) What are the maor characteristics of Decision Support System?
e) What is the scope define for ERP?
Q3) Answer the following (Any two): [20]
ad Define ESS. What are the advantages and disadvantages of Executive
Support System?
b) What are the various benefits of DSS?
Cc) What isthe Need of MIS in businesses? Explain.

lClodos
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[6224]-419
SY. B.Com. (Vocational)

245B VOC : ADVERTISING, SALES PROMOTION AND

SALES MANAGEMENT - |
Advertising and Media Planning
(2019 Pattern) (CBCS) (Semedter - 1V) (Paper - I11)

Time: 2%2Hours] [Max. Marks: 50
| nstructions to the candidates:

1)
2)

Q1) A)

All questions are compulsory.
Figures to the right indicate full marks.

Fill inthe Blanks. [9]
)  Sub elements of product mix includes
a New Product Development
b) Branding
c) Packaging
d) All of theabove
1)) Isnot a part of marketing mix.
a Product
b) Purpode
c) Place
d) Price
i) Life's Good is the Slogan of
a Britannia
b) LG
c) Nokia
d) Samsung
V) provides a price reduction after the purchase rather than at
theretail shop.
a Samples
b) Coupons
Cc) Rebates
d) Freetrals

PT.O.



V) Advertisingisatypeof digital marketing that utilizes social
networks such as facebook, twitter or instagram.

a Mobileapp
b) Website
c) Socia media
d) Blogs
B) Matchthe Pairs. [9]
A B
a Socia media 1) Brand
b) Samsung i) Twitter
c) Trade Discounts i)  Seasona offers
d) In store sales promotion V)  Pricemix
e Fit v) Mobileapp
Q2) Short Noteson (Any 2) : [10]

ad Blogmarketing
b) Elementsof promotion mix
c) Types of branding

Q3) Answer thefollowing questions(Any 4): [20]
a Writeanoteon AIDAS
b)  Write techniques of on-line sales promation.
c) Digitd marketingmix
d) Streaming audio and video advertising
e)  Write sub elements of price mix.

Q4) Answer thefollowing (Any 1): [10]

d What do you mean by marketing mix? Explain in brief elements of
marketing mix.

b) Definetheterm buying motives. Explain any five motiveswith examples.

Codoe
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SY. B.Com (Vocational)

245C Voc : TAX PROCEDURE AND PRACTICES

| ncome Tax

(2019 Pattern) (Semester - V) (Paper - 1)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to the right side indicate full marks.

1)
2)

Q1) A)

Choose appropriate answer (Any Five) [5]
1)  Anindividua involved in the business with a gross turnover that
exceeds Rs during the previous year, is required to get his
accounts audited under IT Act.
a 10lakhs b) 20lakhs
c) 50lakhs d) 1Crore
i) Inthe case of non-corporate taxpayers, Minimum Alternative Tax
islevied @ % of adjusted total income.
a 155 b) 185
c) 20 d 25
i)  Tax Audit is incurred as per the section of Income Tax
Act, 1961.
a 44AA b) 44AB
c) 44AD d 48AA
lv) CBDT stands for
a) Central Board of Direct Taxes
b) Central Board of Deemed Taxes
c) Centra Buro of Direct Taxes
d) Central Bank of Direct Taxes
v) Generaly, long-term capital gainischargedtotax @ (plus
surcharge and cess as applicable)
a 10% b) 20%
c) 30% d 35%
vi) Under section interest shall be charged to deferment of
advance tax.
a 234A b) 234B
c) 234C d 234D

PT.O.



B) State whether the following statement isTRUE or FALSE (Any Five)
[5]

1) A return of income when notified as defective, must be rectified
within 60 days.

i)  Commission to employees to achieve sales targets is a capital
expenditure.

i) A Tax Audit is an examination of the books of accounts of an
organization carrying business or profession.

IV) In the Income Tax Act, 1961, deduction under sections 80C and
80U are applicableto Partnership Firm.

V) Returnfiled after the due dateis called defective return.

vi) The provisions regarding TDS on Salaries are contained in
Section 192.

Q2) Write Short Notes (Any Two) [10]
a) Interest Payable U/s. 234C
b) Powers of Commissioner of Income Tax
c) Typesof Return
d) Tax Deducted at Source

Q3) Solvethefollowing Problem [15]
The Profit and LossA/c of M/SABC Partnership Firm for the year ended 31%
March 2024 is as under:

Particulars Rs. | Particulars Rs.
To Remuneration to partners  3,60,000 | By Gross profit b/d | 4,95,000
To Trade expenses 40,000 | By Commission 42,000
To R.D.D 10,000 | By Interest on 1,17,600
Govt. Securities

To Telephone Exp 5600 | By Sundry receipts
To Depreciation 10,800 5,400
To Office Rent 60,000
To Interest on capital 55,600
To Net profit ¢/d 1,18,000

6,60,000 6,60,000

Additional Information:

a Trade expensesinclude Rs.25,000 are disallowed as per I T provisions.

b) Interest on capital has been paid at 18% p.a. in accordance with the
terms of the partnership deed.

c) Depreciationalowableasper IT rulesamounting to Rs.10,000.

d) Telephone Expensesarefully allowed as per IT Rules.

Calculatetotal income of thefirm,

[6224]-420 2



Q4) Answer thefollowing questions (Any Three) [15]

a)
b)
C)
d)

What are the provisions of Best Judgement Assessment under I T Act?
Explain the provision of interest under section 234A.
What are the provisions of Advance Payment of Tax?

Mr. Sunil estimated hisincometax liability at Rs.2,00,000 including Health
and Education Cess for the year 2024-25. He also estimated his TDS at
Rs. 1,00,000 for the said previous year. Find out the advancetax payable.

Fromthefollowing information computetheinterest payable under section
234A by individual for assessment year: 2024-25.

- Date of filing of return: 15" November 2023
- Duedate of filing of return: 30" June 2023
- Tax determined on regular assessment Rs.70,000

- Tax paid in advance Rs.30,000

e
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S.Y.B.Com. (Vocational)
246(A)VOC : COMPUTERAPPLICATIONS- 11
(CBCS 2019 Pattern) (Semester - 1V)

Time: 2%2Hours) [Max. Marks: 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figureto therigth indicates full marks.

Q1) A) Fillintheblanks. [5]
a HTML defines levels of heading.
) 1 i) 2
i) 4 iv) 6

b) Comment injavascript iswritten using

) $% i)y /
i)y /**/ iv) ##
C) tag is used to mark the text italicin HTML.
) <it> i <itl>
i) <i> iv) <italic>
d) attribute of the body tag is used to display background
color.
I)  Background i)  bgcolor
i) backcolor Iv) bcolor
e In HTML element we put the JavaScript code.

)  <javascript>...</javascript>
i) <js>.</ljs>

i) <script>...</script>

Ilv) <css>...</css>

PT.O.



B) State whether the statement is True or False [9]

a AllHTML tagsareenclosedin< >

b) <b>isused to give border to the text.

C) <pr>tagisused to define paragraphin HTML.
d) InHTML <ul>tagisusedto makeabulleted list.
e) <hr>tagisused to break thelinein the web page.

Q2) Answer thefollowing (Any Four) [20]
a) Explainany four Formating tagsinHTML.
b) Whatishyperlink?How hyperlinkiscreatedin HTML.
c) How images are inserted in HTML? Explain image tag with
syntax and example.
d) DefineArray. How to create Array in JavaScript?
e) ExplainVariablesusedin JavaScript.
Q3) Answer the following (Any Two) [20]
a Explain ordered and unordered list tag in HTML with syntax and
example.
b) ExplainArithmatic and comparison operatorsin JavaScript with example.
c) ExplainTabletagusedin HTML with example.

v O <O
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S.Y.B.Com. (Vocational)
PERSONAL SELLING & SALESMANSHIP
246(B)VOC : Advertising, SalesPromotion & SalesManagement - ||

(2019 Pattern) (Semester - 1V) (Paper - 1V)
Time: 2%2Hours) [Max. Marks: 50
I nstructions to the candidates:
1) All questions are compulsory.
2) Figureto theright indicates full marks.

Q1) A) Fillintheblanks. [5]
a) The stages through which individual product develop over period
of time is known as

I)  product lifecycle

i)  product likecycle

i) product development cycle
Iv) product image cycle

b) In Decline stage, cost of marketing is
1)  Veryhigh i)  Verylow

i)  Moderate V)  Not known

c) New product development starts with

I) ldeageneration i)  Fundsgeneration
i)  Marketing channels Iv) Lower pricing

d) are emotions behind purchase of products
1)  Buying motives i)  Sdlingmotives
i)  Marketing decisions Iv) Bargainingmotive

€) This typeof customer isvery hard to handle.
1)  Friendly i)  Arrogant
i)  Expert buyer Iv) Slent

PT.O.



B) Matchthepairs. [9]

a Primary Packaging 1)  Carton of Papers
b) Secondary packaging i)  Shampoo bottle
c) Itisspecific name, picture  iii) Brand

or design
d) Salesvolumehigh Iv)  Buying motives
e Safety and security v) Growth stage

Q2) Write short notes on (any 2) [10]

a)
b)
c)
d)

Branding of product
Maturity stagein product lifecycle
Rational buying motives

Onlinemarketing

Q3) Answer thefollowing (any 4) [20]

a)
b)
c)
d)
€)

f)

Product life cycle

AIDA

Emotional buying motives
Patronage buying motives
Cloud marketing

Social mediamarketing

Q4) Answer thefollowing (any 1) [10]

a)
b)

State and Explain process of selling
What do you mean by Marketing? Explain modern marketing concepts.

v O <O
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S.Y.B.Com. (Vocational)
TAX PROCEDURE & PRACTICES- 11
246(C)-VOC : Goods & Services Tax
(2019 Pattern) (Semester - 1V) (Paper - 11)

Time: 2%2Hours) [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figureto theright side indicates full marks.

Q1) A) Choose correct answer (Any Five) [9]

a Onor before day of theimmediately succeeding monthis
the due date for submission of monthly GSTR-1.
) 10" day i) 20" day
jii) 25™ day iv) 30" day

b) Is the time limit to pay the value of supply with taxes to
avail theinput tax credit.
) 90 days i) 100 days
i) 120 days Iv) 180 days

c) Which of thefollowing are not required to filethe Annual Return?
1)  Input ServiceDistributor ii)  Casual Taxable Person
i)  Non-resident Taxpayer iv) All of the above

d) Compositiontaxpayerisrequiredtofilereturnin Formno
) GSTR-2 i) GSTR-3
i) GSTR-4 iv) GSTR-5

€) A registered person whose aggregate turnover during aFY exceeds
INR 2 croresisrequired to file which of the following documents.
1)  Annual Return i)  Audited annual Accounts
i)  Reconciliation statement iv) All of the above

f)  The due date for filing GSTR-3B is on day of the next
month.
) 5" day i) 15" day
jii) 25™ day iv) 20" day

PT.O.



B) State whether the following statement is TRUE or FALSE [9]

a Theresponsibility to compute the correct tax liability lies with the
assessee.

b) The credit on capital goods can be taken immediately on receipt of
the goods.

c) Theinput tax credit on capital goods and inputs can be availed in
multipleinstal ments.

d) Thetimelimitto pay thevalue of supply with taxesto avail theinput
tax credit is 120 days.

€) Thedefinition of Inputsincludes capital goods.

Q2) Write short Notes (Any Two) [10]

a)
b)
c)
d)

Output Tax Credit
E-Way Bill

Vouchers under GST
FORM GSTR-2A

Q3) Answer the following questions (Any Four) [20]

a)
b)
c)
d)
©)

f)

What are the contents of a‘Bill of Supply’?
What are the contents of Debit Notes?

What are the Contents of invoices issued by |SD?
What is Removal ?

What is an electronic credit ledger?

What should be the contents of atax invoice?

Q4) Answer any One of the following questions. [10]

a)
b)

What isthe Procedure for e-filling of GST Returns?
What are the different types of assessment under GST?

v O <O
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Instructions to the candidates:

1)  Question 1 is compulsory.

2) Solve any three questions from question No.2 to question no.5

3) Question No.2 to Question No. 5 carry equal marks.

Q1) Attemptany five of the following:

a) Define watershed. [1]
b) Write any 2 equipments used to control Air pollution. [1]
c) Which gas was responsible to cause Bhopal gas tragedy? [1]
d) What is the Aim of Wildlife Protection Act? [1]
e) Enlist different zones to study noise pollution. [1]
f)  Ozone hole was first observed at which zone of the earth? [1]

02) Answer the following.
a)  What are the major roles of environment legislation in the society.  [6]
b) Explain the formation of Acid rain in Atmosphere. [4]

03) Answer the following.
a) Explain the measures to control Global warming. [6]
b) Explain with suitable diagram about a typical waste water treatment plant.
4]

04) Answer the following.

a) Discuss about the methods used to conserver water loss. [6]

b) What are the 3R of solid waste management? Explain with suitable
examples. [4]

05) Write a short note on any four of the following : [10]

a)  Sanitary Land fill

b) Landslide

c) Environment ethics

d) Human right & environment

¢) Environmental communication
f)  Sustainable development
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(WISt TUTER)
o : 2 amf [T T : 35
goi:-  [) 9 | HAHEE ot
2) U . 2d 5 WYA HIUGE i TGS
3) U 2d 5 AHME T 3G,

Y. 1) @reiicTdehl shivTag! Ut 993 Ere.
) UUeReET=R sare fora. [1]
q) g IguUl AR FRUATETS! ATavetelt hivTdEl 2 SRl forgt. [1]
%) WG a1 GHeACT I o1 TSGR Fiefl ? [1]
T) IS 0T AT 3R I 3R ? [1]
3) At IGHUTTEN SYATE SUATHIS! ATeRTG STl arat . [1]
W) Yoo ShivTe qnTa e fog ufdearer urguaa e ? [1]
Y.2) wreiiet gyt SW fergt.
) TN UITERUT HEET T Uit e o1E ? [6]
d)  SATeRUTde 3 grerEr=h Ffd woe w0, [4]
¥.3) wrefiet v I for.
) AR AU 916 FEEUTEES! Siv U el SIS ITehd. [6]
q)  UH O WSO TR T SAATEId Tieel choledl STTehde Weri o8 . [4]
¥.4) @refter g 3 fergn.
) UTUETE I STUEUETEIE! STUREET AU Ugdiageel adl . [6]
) WW3RWWWWW. (4]
g.5) fem forgr. (shomdt =m) [10]
) HiHeEh defthra
q) G
®) Ui Afdeman
T) WHATRRR SATUT qIiaRot
3)  UITERUT HUNOT
W) vmyEd foeRa
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